i
~2.700__ 531.000
—2500f___ 530.857 =
N
—1.000_ 529.857 &
(@)}
0.000 _|_ 530.000 529.857 _ ~
3
1.000_| 529857
1.100 /N 530.000 =
S
2.480 _| 530.950 S
2.500 530.857 =)
(@)
O
4,840 _| 532.700
—-10.000_— 533,960
[@)]
N
~
0
N
-2.500] 531.343 /
J I
. ~
~1.240]_ 530.550 S
-1.000h_____ 530.343 A -
ﬁ-- 0,048 & 3
0.000 _|_530.570 530.343 - — -
0.500 _| 530.570 |l = =
1.000 _ 530.343 ©
NG ©
v
1.840 _|_ 531.390 . Q_F S
2.500 _ 531.343 & & _
T -
925 T S
x> N O
I O
mP o :é
YENN
= o ¢
5.160 _|_ 531,49 Ek% = | RODINY DOM
oz e
> N
e &
og %
S [}
-9.500__ 537.130 3 Z
[y
N
(6]
P2y,
Tl
N
-2.500 532.104
N
I
£ (@]
~1.000] 530.604 <
~
jim 0/948 e 3
~0.1001_ 530.520
0.000 /N 530.840 530.604 o
N
1.000 _ 530.604 =
(@)
(@D)
25001 531604 —
2.540 /N 530.840 T
O
3.500 _|_ 531.850 S
5,10 - 532,00 RODINY DOM
~3.780__ 532.940
N
n
-2.500] 531.900 .
=
N
-1.0701_530.910 N
—1.000/1 530.900 LIO
0.000 _|_ 530.925 530.900 ~
3
1.000 _ 530.900 o
NS
N
2,500 _| 531.900 =
3.050 _|_532.580 o
2 8 8| 43|9 3|E .
%2 5283 =23 £ £8:2:5f =
TZ k3 S Sx™mo o
AR £ sHgHS
S T E'\ -
v 2= a g DE3
=~ E S|S2 % )% o <
=32 B3| o= 5 o
| Z U| o Z| - — =2
Olm [ Z2o|a o g ™ =
= =Z =Z| T by 2
m 20| § o = = F'Z'I\
D IE|<F 23
—| ©\ 0 = Tl = ~
<lg|l=|Salo = N
~ |9 |4 S S
o || = I
& >
2~ (=) < n
> > ;‘ = <
© 5l 8l 3 |
el £/8 o
= g ; ,§ =
> .. |
-l g
s
EEERE I
Q| Bl o = @ 25
= 9&§§§
W Nl o ::23“33
SHENEE Y
Bl (S[225 |99° o
HEE N EEE L
< =y 85 8 % -08-
2| 38| %ERS
— A =l b3 N L
k& s %I’"I o
o o

% g$& & B
:;: § =3 =3 =3
-
== 3 0
2
S g 3
= =
> o
=
[y
—2.350__ 528.740 —0
w [
NS N
N
~0.600|_ 527.740 N
0.000 _|_527.710 527.620 I ~
0.600 _|_ 527.710 3
©
O
()
2520 _| 528.630 ©
O
O
~4.100__ 530.850
N U
N m
N
~2.500 520.484 G
|
~1.470_ 528.600 /Q ™
-1.000]______ 527.984 g Y
Ko 3
-0.390]_ 528.250 AV S
0.000 _|_528.250 527.984 | o o
1,119 © O
. N
1000 | 577.984 | . ©
1.050 /N 528.280 Q“ g =
& N
2500 | 528984 =
2,540 /\ 529.130 , >
N N T 'r‘
o ==z Lit O
2231
—-12.50Q_ 533.670 o4
v <O
a =X
N % =
- S
N
% 2
g =
)
—2.500] ____ 529.380 T
-2.010]_ 529.370
T
-1.000]_____ 528.300 N
[$)]
~0.420]_ 528.690 2 =~
0.000 _|_528.620 528.300 1N ST 3
1,147 [
0.610 _|_ 528.630 . o
1.000_|  528.300 W o o
< N N
& ﬂf I
1.900 _|_ 529.770 S 3
2500 | 579.300 \ o
3.000 __ 529.600 —
O
O
~11.600_ 535.300
n
o
)
[Tl
N
~2.500 530.050 Cl»l
~1.800]_ 529.200 ~
~1.000 529.050 1 & - 2]
1196 | |15
0.000 _|_529.180 529.049 __ U= O
| 1,423 O
| 3
1.000 _ 529.050 . ; ™
“*‘X{O\ g =
1.940 _|_ 530.340 P .
2.500 _| 530.050 \ b N
I o
SS< T o
A2
529
4.240 _|_530.010 no=
~A N
o2 =
X, 3
(@) 3 c
i
og g
~5.000__ 531.710 g~ &
X e =
S N
T
25000 530214 [ o
—2.350/N 530.370 =~
3
1000 529214 o
—0.880/\ 529.440 R
0.000 _|_529.380 529.214 ~
O
O
0.920 _|_ 529.330
1.000 N 529.214 —
()
2500 _| 530214 ©
2.700 < 530.480




